Chapter 11 Review HW

pg755 #’s 8-15, 17-22, 24, 28, 29

EXERCISES
Simplify the expression.
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Radicals with a variable
with an odd exponent will
have a hanging variable
under the radical.
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Radicals with a variable with an
even exponent are perfect
squares. Remove the variable by
dividing the exponent by 2.
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No radicals in the
denominators. You must
rationalize the denominator
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Simplify both radicals

Then combine like radicals
the same way you combine
like variables (3x-8x=-5x)

0




16. GEOMETRY The lateral surface arca [. of a square pyramid with height h
and base length £ is given by L = 20V0.25¢% + h*. Find L (in square feet)

for a square pyramid that has a height of 4 feet and a base lenglh£f4 feet—
L= 2(4) J8HTE = Fa0 = BAFTS = ILSHX

EXERCISES

Solve the equation. Check for extraneous solutions.

17. Vx —28=0

Remember to always check your answer(s) in
the original equation. If it does NOT check
then make sure to state it is
an “"Extraneous Solution.”
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. Answer: x=1 and -2 is an extraneous solution
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Chapter 11 Review HW
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27 is an extraneous solution
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